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There ar 8O students in a class whose averag

¢ marks in statistics are 05,
e y plass v iy . statistics are 05, There are two
sections 1 the class. In the first section there are e are Y

ot average marks of the second soction A0 students whose average marks are 60,
GoLUTION. Ko NXy+N,X,
N, +N,
;‘;1'1 =035 /
X, =60 ,
X,=?
N, =50
, =30
5060430 X,
T50430
3000+ 30 X
) =~—~-~§6—*~-—

65 % 80 =3000+30 X,
5200 - 3000 =30 X,

2200 <
30 7
X, 18:83

@:t o %a 3t 3f (Mean Marks of Section 2) =73-33.

ILLUSTRATION 16. T Bagt & 100 Ffal 7 & 60 e wer Wi A e 9 40 v G welt 3
) #1100 T 1 sitea e 38 & I BT wed % 40 Hfifal 7 it g I B
A factory employs 100 workers ouf of which 60 work in the first shift and the remaining 40
work }11 tlu'..\*vcnml-slufr. If the average wage of 60 workers of the first shift is Rs 40 and the
over all average of all 100 workers is 38, calculate the average wage of remaining 40 workers
of the second shift.
SOLUTION, X, =38 N, =60, Ny =40.X, =40.X5 = !
60 % 40+ 40 X X
y _ - —
=760+ 40
40 x X, = 1400 . X,=35
mz.%ﬁi\ﬂmﬁa'mmﬁmaﬁmw = 35.
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